NX 3130 .?'.:1% ifiﬂ w % 12#11(;7155) ézﬁzmm
o1t .
3130 . 3130 3130 . 3130 7 [ RBess 17 23
i . 3 | #EP F12 16
65 6X500=3000 130 3000 3000 130 6X500=3000 65 T 1 706
5 | HEAS F12 16
6 | id F12 12416
ol REE: 718 23
7 ESL Gy F12 32
9 |t Y10 16
10 [ #ite Y10 16
IHES35 Y10 1.0
2 S RELL F12 20432
o =3 ERETY F12 20432
[ 1L | ROBRIR Y10 1.0
75 S 15 [ F#AN- F12 23
) 16 | RbniN- Y10 0.7
) TR F12 1.6
& — 8 | BED F12 16+23
19 | BHR/S3IV Y10 05
& " 20 | REBEM FMM)-B%- | RUTFLIIH—Ab 40
—arD AREREY F12 07
—1 © 22 | #RES Y10 0.7
23 | BB EIE Y10 0.7
24 | J-F—%8 F12 23
25 [ v+rv9-R5v ) 208 0.5
= 26 | Srvo-nin- F12 0.7
b 21 [ vy 9—L—)b PHI=0LRRBBIM
il F12- 8 ESE® > @RS G 3302)
S Y10 BB -5% 7 VI =D has o XB/RUIS G 3317)
=< 208~ 2 EBEmMELD > FH/RUIS G 3312)
= 718> —#p s A A/ (IS G 3466)
L L
& L
_7l>
BHEOSEO BUAOSE O 32
100 48 2842 L8| || 48 2842 2842 LB | 48 2842 48 100
192 192
NX 3130+8
‘ NX 3130+160 ‘ 6555 ‘
80 | NX 3130 80 - 6275 | 140
- L 1000 o
i / i %
// ]
\02 I/ [Wg]
N / ol s
) (i/ vz & o o
1B 7 Nl S &
O / m (@]
Y // =
3 =— o= 5= =——o
T v /
VGL 7 =
/ Va}

KEEMIE - ZEHIRICES WO TIIREDREFZRLE. ERHIC
WCTHEMEYE - TOBRNBELLGDIGEEAHYET,

o 12 X

HiE4A

<HsR> S=1/60

~EEE~

GRN—3162HL

OB B0 ~+3%:2842 x 2118(mm)

ORMEFENGESH] x 19.64m(5.951F)

i 2% K 3% BY1E PR



